e 1

SERAEBEERE (BRE &)
1=H 25H 35H

o 18 £ O kbeHUBL oh 12 £ O keAHYUBL on 12 £ 2EHNY

AE A 7830H AAER 7830H AEA 7H30H

FABEREK 2 0tk B 207k FAERE 20

& St(cm) 108.6 "7 E St(em) 105.8 557 & st(cm) 110.0 P55

% #H(X) 244 -39 | EH(K) 32.7 ~53 £ (&) —

& #(A) - & #(A) — 8 () 14.3
= {5 (SPADfB) 33.8 -s5 | IE fB(spaD) 35.1 —47 | I tB(SPADIE) 435 13
[FE=] (H*%] (H*%]

TESBEM T AT KR L —(60kg/K)
TR - B OBERK3 0 X —/X—TTE
a> 271108 (33.3kg/&)

Hi#ExH:5814H

MEZ AT ITHRER © 5 O k3
BUYH:6H21H 14AX/10%
e &L

XSPAD--- iR DB HF & L TR

TEWEM T A 7 kR & —(60kg/R)

TIE - Bk D= HH3 0 R —/3—TiB
(33.3kg/R)

HiEZXH :5816H

TEZATIFHRE : 5 0Bk /HF

BUYB:6HA21H 1AX/10%

TERB 7L

KSPAD--- Eik R DB HF & L TR

HIEWBM 74T KR & —(60ke/R)
TOHB ¢ 2 LuwiE X —/8— B2 S (60kg/ )
HiEx H: 58138

TEZAT SRS 1 6 0 1%k 3F
BUYB:6HA21H 1AXA/10%
TR L

22—y LEl: TB268 (3kg/R)

XSPAD---Ei R DB HF & L TR

4 =H 5%5H 6 = H
m 12 & D2EHNY m & % av ke HYUBL m & % av ke HYUBL
AEH 7H30H AHEH 7H30H #AHEH 7H30H
B 207%k B 207k B 2071k
= S(cm) 113.9 "53| = st(em) 102.6 "755|  F Slem) 101.9 "
% H(A) — % #(F) 25.7 +oo | ZEH(A) 26.4 11
8 #(A) 17.3 8 #(R) — 8 #(R) —
= 5 (SPADfE) 42.8 +48 | IE tB(SPADIE) 34.6 -22 | 3 tB(SPADIE) 31.8 78
[E=] (E*%] (E*%]

HIERR : T A T KR 2 —(60kg/ %)
JOIB ¢ 2 LLaRE R — /3 —ThE2S (60kg/ R)
HfEx B : 58 13H

B Z AT T HRER ¢ 6 0 ¥k HF
BUYH:6H21H 1&X/10%
T L

AE—7 VKK THE26H (3kg/R)

XSPAD- EiFFEDEEHF & L TRTEHAR

TR T AT KR 2 —(60kg/R)

TR - B OEEHEE3 0 R —/ =B
(33.3kg/R)

HiEzH: 58178

REXAHIT#RER © 5 04k 3F

BUYB:6H21H 1X/10%

TR L

XSPAD- EFFENEBEHF & L THRTEAR

HEREM T A 7 KR & —(60kg/R)

TS - MR OEEHEH3 0 R— /X —TTiE
(33.3kg/R)

MiEX B : 5 A 154

BRAHFHRE : 5 0%/ 1T

BUYH:6A821H 1X/710%

e AL

XSPAD- EFFEDEBEHF & L THRTEAR




